EANRAROESIERT —

ZN—BISH—F

20155590 () 3m=#R5H

L) <s@i57 1000AT ¥5%4mE (BE) UEE] N7 (w8 [emm — |2 o0 e s
[A&4] 1 % :15,000,000 § ~ 2 7 :6,000,000 @ ~ 33 :3,800,000 @ 4 7 :2,300,000 3 . 5 # :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N AR :33. = . . AHE (EX)
lalis a7 4-0 o6 Y 1(3_3)4 2-2 35.31102.4| 9 (4_364) EEEN
LA TIxATv— B:IT7—F4 )= TESHS
fb S — gy o7 | ERR 1:33.7 8-6 34.0 99.0 | 1 530 |5EHE— (BR)
] 6 hEFZZ/NL X 56.0 (1 3/4) (+2) TR
R:TITRREFLFL BTREIAZR HET7—L
. = AILEAT : - HwHEZ (FX)
N RETESENERTS s | By | e ||| 2 | ue eEER
R:7T7v 74K B3/ /=)a3y—-= Y+ AT
5 5 4t 5 | MAM— 1:33.7 5-5 34.2199.0 | 6 492 | MAKEK (BEH)
4|5/8|7/—73AAx Y b 53.0 (n+) 2) W G1L-s1y
LT =TA NN B:/—TIVXFTT HET77—L
N # o6 | BEREEX 1:33.8 3-3 34.6| 9.1 | 8 516 | BERfE— (3ER)
5 3| N 54.0 (2 E) (+6) |RESH
gL FI LML B TATIV—54Y TVTTTT— I
. (.o~ :33. - . . EAE (ER)
6l1lq ¥ty bxBa H 5 35_0 1(13/32;) 10-10  [33.9] 9.9 | 7 (4_95) ;Eg:
L:xF1=FGr— B:Tr—Fa #HRAEHE /-
o 5 4t 5 | JIERHHE 1:33.9 10-10 33.9/ 9.9 | 3 468 | MAEEE (ER)
718114/ ZA/ 2T LA 57.0 (7€) (+4) /L\\7kﬂﬂ
R:g4—I>TUlL B:FvyFHFd—ILK (B) #BA3—-RKL—va>aE77
—: o7 | ARE 1:33.9 8-9 34.1| 96.9 | 14 | 492 |7ARNE (RR)
s+ 177 83.0 (75%) o |
LT w TRy b BiXATRAINC NIV ERKS
. A H o6 | KOEH 1:34.1 5-6 34.6| 94.9 | 12 | 504 |GEF (E®)
9 2 AZXBFTH L 53.0 (1 1/4) (+2) 77(#”%5%
X THANAIN B:RAXHTLAR RES
== o4 | BAKH— 1:34.1 12-14  [33.9| 94.7 | 4 44 |BE (FER)
10/ 5|7 77 7) =7 [B] 5%.0 (74%) -2) (#%) /W=>F14—¥%7TLy KL
71— 7“;(774 B2/ VX8~ hr b —H5
R o4 | K2 1:34.1 14-12  [33.8| 94.7 | 5 48 | AEBE (EX)
EH 10| T~ P w7 5.0 ) oy | LRESR
L:xALIZTr—2R BiUA L KA 2N=AT J=HrTrp—L
» o4 | FIHEEZ 1:34.1 1-1 36.5| 95.6 | 11 496 | BAEE (RR)
12|7|11| 152 [B] 53.0 (7E) (1) | BRI
R:ZgY—>rbe—0O— B:Fr¥rao-x b A ILVIKS
SR # 5 | AEAEE 1:34.5 7-6 34.990.7 | 10 472 | FILEA (FH)
13 9| F—Fv FLA 52.0 2 1/2) © |EFEAR-AF2T2 ()
LFA—TANT N BV LALA J—HFrTr—LI
” 5 F KISy K [B] > 8 g’%ﬁ* 1(7311:53 4-3 35.3| 89.8 | 13 (4_760) ﬁé%i? (TEHR)
R:V2T72E=) B:¥atyb HE77—L
@ 21 L
£y 47.5-35.8
NaO>a24 L | 12.2-10.7-11.3-11.7-11.7-11.7-12.0-12.1
® I—F—@EBIERL
13—7-
23—7F—
3a—+— 11-13=3,5(2,8)9(4,6) (1,14)7,12,10
AISI=F = 11-13=(3,5)8(2,6,9)4(1,14) (10,12)7
[ RN
B R 13 2,370@ | | 74 K 6-13 1,240M | | # = 4-8 770M | | =& | 6-12-13 5,270M
BB 13 550M 12-13 1,840M B E 6-13 3,890 EE 13-6-12 52,100/
6 140 6-12 360M B H 13-6 10,370
12 190M9
ABICOVWTRHDTERERRODLDE, THERLE,




